Ofl & 24

HE T
Ofl &k 24

> o}

5,508,246
1,008,444
293,000
128,080
4,078,722

6,326,726

> H o W

1,595,678
8,444
293,000
128,080
1,166, 154

2,752,983

A1,157,305

= 1 0

936,400
293,000
128,080
515,320

763,643

172,757
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936,400
293,000
128,080
515,320
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401 AlZHIYL S0

> 11 08
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293,000
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515,320

763,643

172,757

01 Al£H]

O == =4 (2km)
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M= JR4 FARIA
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O =&tsl idl D2 ALE ZelAFSE(38)
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O
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O Jt24 =4 (2m)[0.63%)
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O SMYEs H24 ZHAY
5 <
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Q
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o

> 11 0
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929,753

582,309

293,000
88,000
201,309

178,704
36,000
142,704
20,180
4,080
16,100

99,100

49,460
6,647

3,691

1,296
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760,123

169,630

3,127




S BED
M mE=y B2 X4
&l D2 Tdatel (&2 & &)
< PSIE
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O &4 Jt2= Al ZHISA
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SAl=3E 22 659,278 1,989,340 21,330,062
= 8,444
Al 650,834
CHMEA TSAMUISHIAIH, 100,000 20,000 80,000
401 A&HIL 2| 100,000 20,000 80,000
01 Al&dl 99,100 19,784 79,316
O NS ofleeterd F 2 &MZ AXSA
100,000,000& * 99.10/100 99,100
3 AIE S| 900 216 684
O HA=S ofleeterd F 2 MMI LI SA
100,000,000& = 0.90/100 900
NEelE MOIESE S AT 287,000 690,000 403,000
1T AIZHIZ SO0 287,000 690,000 403,000
01 Al&HI 284,621 683,772 A399, 151
O =&3 Ul & =X0 22
20,000,0002 = 10ha * 99.28/100 198,560
O S&in &7 E28 ZF e AWSA
200,000& * 200m" * 98.92/100 39,568
OvES =g =8 Z&til ZdISAt
30,000,000& * 98.92/100 29,676
O == chole-320 2T TF = ATHSA
250,000& * 68m" * 98.92/100 16,817
03 Al&S0HHI 2,379 6,228 A3,849
O &3 el &4 =X 225N
20,000,000& * 10ha = 0.72/100 1,440
O S&in &7 E28 T AMMSA
200,000& * 200m" = 1.08/100 432
OtEs =g =8 Z&tkl FuISAt
30,000,000& * 1.08/100 324
O 2= chole-320 2TH T4 AT A
50,0003 * 8m * 1.075/100 183
S A=zt 258,206 265,712 AT7,506
101 @12l 130,929 133,864 N2,935
04 JIZtM2Z2XSE =+ 130,929 133,864 A2,935
O Itz el AR (HIZ=I], Al M=
S) 36,370 * 300 10,911
O =X M==d(E28%, 3te, SAISSHAL
=PNIRS) 36,3703 » 20% * 13 * 43| 37,825
O Al 2 22% xdae| AR (M=, gl
E2H S) 36,3703 * 3" * 10 * 128 13,004
O Al 2 25 B=ae) 3,637
o MSIA(EIA, 22 5)
36,370& = 108 = 58 * 23 3,637
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SA B ER(E) - MRAE - BaS Of &r e HIDE
O =k & =2 28 KR HAHY R
= 36,3708 * 108 * 102 * 23 7,274
O AN =28 Jt2 ATHAI 24171
81,3902 * 538 = 156& = 43] 24,417
O 2+ & =3+ dolls LM 2FY
81,3002 = 5& * 32 * 33 3,663
O 842 014 & AT 215
81,390 * 33 * 3 *x 23] 1,466
O 0l 249 Y XA Pt S2ATY I
= 81,3902 * 38 * 3& = 23] 1,466
O Moigd =5 J2l & 284 525 o
£ 3,534
o x &3 81,390& * 30 2,442
o ESo= 36,3702 * 30& 1,092
O HEs, 2&4 A= HA 2 MEXHY o
28 36,3702 * 40 1,455
O =3+ (SN, &3S, A 85 S) H
2| 36,3703 ~ 180 6,547
O R=s HEF)| S 2218y A2Y
36,3702 * 35& 1,273
O JtZ A==l Orlist AXH QIR
36,3702 * 35& 1,273
O WS TA= AGH 22l(M=E, 2HI01)
36,3703 * 208 * 62 * 32 13,094
201 Yt | 50,427 78,848 128,421
01 AR 2t2IHl 29,890 62,000 A32,110
O get+=EH] 4,000
o ZAsSEA(H)Z2 0™
4,000,000& * 1K 4,000
O gxz 25,890
o Al B 22E EX it
5,000,000 * 14 5,000
o Al Y 22% xd ¥ 2elHHl YRHE
Agel) 350,000& * 6& 2,100
o XU 2A4F 014 HHl SRH(EIY
) 350,000& * 2& * 23| 1,400
o g5 238 FHl X (3tn3d)
350,000 * 32 1,050
o Mol IS MH, =014 FHl LXK
eflel) 620,000& * 73 4,340
o JtZ2= Sl E S+i &xt
400,000& * 10 * 32 12,000
02 E3=23Hl 20,537 16,848 3,689
O A& &dI= X 20,537
o SHEHI(GFI], XCI201,I1H S, dE I
g) sXzel 13,535
- =&l 100,000& * 22CH 2,200
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- SFU(FALR) 1,6108 « 3204 = 22CH 11,335
o Jl24 o XF4 NY YDH 348 Y
=] 2,339
- =4 100,000 * 3CH * 23] 600
- SFU(ALR) 1,6102 « 30H » 3604 1,739
o STHIHHDI 4,663
- ==&H| 60,000,000 * 5% 3,000
- SU(ALSR) 1,610& « 1CH » 6604 1,063
- oI 300,000& * 200 * 12 600
202 G4d| 4,250 3,000 1,250
01 2L 4,250 3,000 1,250
O EAl=sst2el 88 &0l
20,000 * 5 * 4 » 53] 2,000
O EAI=SAIEX 88X &l
75,0003 * 5% * 3 * 23| 2,250
206 M=Hl 61,600 40,000 21,600
01 M=zl 61,600 40,000 21,600
Fo Y R 5 -H -5 A3H ZEE 5
= 7Y 5,000& * 500 2,500
O Iz, &= dlg ¥ daoiE 2 <
- 7,200
o XFE NE=sEHIZE 13,000& * 300% 3,900
o AE(I)M, M=ERX
11,000& * 1508 * 23| 3,300
O HE0d s =+ 4N 2
10,000& * 450X 4,500
O ZAI=EAMERN € 22 228 FY 10,800
o B 7Y 500& = 15,0002 7,500
o HZ, &M 7 5,000& * 320% 1,600
o el AHM e 1,700,000& * 14 1,700
O A2 2, LR Us0 FI| A =5 2
ol 30,000
o = W 10,000 = 1,000 10,000
= Z0l 2 33 5,000& * 4,0002 20,000
O A= OFAR0 HIS)I EIXE 435 +& 6,600
o ol 2 33,0003 = 20004 6,600
301 YprE A 11,000 10,000 1,000
12 JIEt2 4= 11,000 10,000 1,000
O B& - -=XZel 28 AHS Q2! Tlohe
& 500,000& * 203 10,000
O JiZ2% sllE AX 24 50,0008 * 208 1,000
S A=X2E|R 14,072 13,628 444
= 8,444
Al 5,628
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101 Q14H| 14,072 13,628 444
8,444
5,628
04 JIZtN22 RS2+ 14,072 13,628 444
O TA=X22J(MIEE AEXNRES Z&
) 14,072,000& » 18 14,072
8,444
5,628
StERTH 3,384,974 3,055,066 329,908
1,000,000
2,384,974
S T&zel 1,181,291 1,534,072 A352,781
glol=0Ie =422 30,000 30,000 0
401 Al&HIZ =20 30,000 30,000 0
1 A&l 29,676 29,676 0
O O2l0l=0lH AIZE FHI(=Al)
30,000,000 * 98.92/100 29,676
03 Al&SCHYI 324 324 0
O O2l0I=0lH AlZdE FHHI(=Al)
30,000,000 * 1.08/100 324
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O 0181 0{2l0IS& AEE ZHIBA
50,000,0002 * 98.92/100 49,460
O AZ0S0IZ& EHISA
50,000,0002 * 98.92/100 49,460
O A1 0202 ZHISA
25,000,000 * 98.92/100 24,730
O =285 02033 A2 ZHISA
40,000,000 * 98.92/100 39,568
O 24 Hel0I33 AIE2 WAl ¥ ZHISA
80,000,000& = 99.10/100 79,280
O =84 02l0IZ3& £&Z== ATHSA
17,000,0002 * 98.92/100 16,817
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